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1. The force in member BC of the truss as shown in figure can be obtaiend
as :
5 kN
B v
G
A D
e g &
2m 2m
(A) 5 kN (B) 5J2 kN
(C) 5J3 kN (D) None of these
2. Moment of Inertia of shaded area shown in about ZZ-axis is :

(A) 402.12 em? (B) 400.62 em?
(C) 400.12 cm? (D) 352.94 cm?
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3. A simple supported beam with rectangular cross-section is subjected to a central
concentrated load. If the width and depth of the beam are doubeld, then the

deflection at the center of the beam will be reduced to :
(A) 50% ' (B) 25%
(C) 12.5% (D) 6.25%

4. In the theory of bending, the assumption that the plane section before bending

will remain plane after the bending is made to ensure that :

(A) strain is proportional to the distance from the neutral axis
(B) moment is proportional to the distance from the netural axis
(C) strain is zero across the section

(D) no conclusion can be drawn from this assumption

5. A rectangular metallic nail is inserted in a rubber sheet as shown in figure.

Identify the principal plane for nail :

7

(A) a plane parallel to xy plane
(B) plane inclined 45° to xy plane
(C) a plane parallel to xz plane

(D) plane inclined 45° to xz plane
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6. A bar of length L is subjected to an axial tensile load P. The ratio of maximum

normal stress to the maximum shear stress is :
(A) 0.5 B) 1
(C) 2 (D) 4

7. Arod of material with E = 200 GPa and o = 200 x 103 mm/mm°C is fixed
at both the ends. It is uniformly heated such that the increase in temperature
is 30°C. the total strain in the rod is :

(A) 3 x 1073 (B) zero
(C) 1.5 x 1073 (D) 6 x 1073

8. A ductile material is defined as one, for which the plastic deformation before
fracture :

(A) 1is smaller than the elastic deformation

(B) vanishes

(C) is equal to the elastic deformation

(D) is much larger than the elastic deformation

9. The outside diameter of a hollow shaft is twice that of its inside diameter
and its torque carrying capacity is M,,. A solid shaft of the same material

has the diameter equal to the outside diameter of the hollow shaft and its

M(‘)
torque carrying capacity is M, . What wil be the ratio of M- ?
2 4

15 16
(A) 16 (B) 15

1 3
(C) 16 (D) 1
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10.

11.

12.

AE(C) HPPTCL 2016—A

If the width (b) and depth (d) of a simply supported beam with concentrated
load at center of beam are interchanged, the deflection at the center of the

beam will be changed in the ratio of :

(A) (B)

b dY
(C) (E] (D) (3)

A cantilever is subjected to a uniformly distributed load W( = wL) over its

a
b

Q.| o

whole length L, and concentrated upward load W at its free end. The deflection

at free end is :

1 WL3

(A) zero (B) —3@ Bl
0.5 WL? 5 WL

(C) R (D) 21 EI

A cantilever beam of length L, moment of inertia I, Young’s modulus E carries
of a concentrated load W at the middle of its length. The slope of the beam

at the free end is :

WL?

(A) 9]

WL?
6EI

(®)

WL?
(B) AEI
WL?

(D) SEL

P.T:O.



13.  Which one of the following methods is classifiable as a Displacement

Method ?

(A) Theorem of Three Moments

(B) Method of Consistent Deformation
(C) Castigliano’s Theorem

(D) Moment Distribution Method

14. A three-hinged parabolic arch of span ‘L’ and rise ‘&’ is subjected to a uniformly
distributed load of intensity ‘w’, then the horizontal thrust at the supports

18 ¢

Lz L?.
(A) "‘éh (B) ";12
wL wl
(C) e (D) 3

15. A simply supported beam of length 3 m is subjected to a uniformly distributed
load of 1.5 kN/m. If the cross-section the beam is rectangular with 100 mm

(width) x 150 mm (depth), the maximum shear stress would be :
(A) 0.225 N/mm? (B) - 0.3 N/mm?

(C) 0.45 N/mm? (D) 0.6 N/mm?2
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16. The minimum reinforcement in either direction of a slab is on the

basis of ................
(A) Strength (B) Stiffness

(C) Ductility (D) Shrinkage and temperature

17. If o, is permissible compressive stress in flexural compression in N/mm?

in service, the modular ratio will be :

280 280
(A) 300()(‘ (B) 50(-(w
C) 19 . (D) 15

18. Rebound hammer is used to determine :
(A) compressive strength of coarse aggregate

(B) compressive strength of concrete in plastic state

(C) compressive strength of concrete in hardened state

-«

(D) tensile strength of concrete

19. In working stress method the depth of the neutral axis for balanaced section

depends on :

(A) oy only (B) o only

cbe

(C) oy, and o, both (D) Neither o, nor o,

AE(C)HPPTCL 2016—A 7 | P.T.O.



20.

21.

22.

A per the IS 456, the minimum area of temperature reinforcement in either
direction of slab, when high yield strength bars are used is ........... of gross

cross-sectional area.
(A) 0.12% (B) 0.15%
(C) 0.18% (D) 0.20%

A simply supported reinforced concrete beam of effective span 4 m and section
200 mm wide and 400 mm deep is subjected to a uniformly distributed load

of 6 kN/m. For the Limit state design, the design bending moment will

be :
(A) 6 kNm (B) 9 kNm
(C) 18 kNm i (D) 24 kNm

If the compressive strength of 150 mm cube is f,, and that of cylinder of
I Y

150 mm diameter and 300 mm height is f,

eyl then the ratio (fcu/fcyl) will be
approximately :
A) 100 (B) 2.00
(C) 1.25 D) 0.80

AE(C) HPPTCL 2016—A 8



23. A per the code provisions in two-way slabs, the minimum mild steel rein-
forcement to be provided in the edge strip is :

(A) 0.15% of the cross-sectional area of concrete

(B)

(C)

(D)

half of the area of steel provided in the middle strip in the shorter

span

half of the area of steel provided in the middle strip in the longer

span

on the basis of minimum bending moment

24. Match List I with List IT and select the correct answer using the codes given
below the lists :

List 1
(@) Factor to decrease ultimate.
strength to design strength
(b) Factor to increase working
load to ultimate load for
design
(e) Static method of ultimate
load analysis
(d) Kinematical mechanism
method of ultimate load
analysis
Codes :
(a) (b) (e)
(A) (2) (1) (4)
(B) (4) (3) (2)
(C) (3) (4) (1)
(D) (4) (3) (1)

AE(C) HPPTCL 2016—A

(1)

(2)

3

(4)

(d)

(3)

(1)
(2)
(2)

List II
Lower bound on ultimate
load
Upper bound on ultimate load

Load factor

Material partial safety factor
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25.

26.

27.

28.

For the reinforcing bars in compression, the values of bond stress for bars

in-tension shall be ............
(A) increased by 25% (B) decreased by 25%
(C) increased by 12% (D) decreased by 12%

If the effective depth of a beam is d, what would be the maximum depth

of neutral axis for the beam in the limit state method of design for Fe 415

steel ?
(A) 045 d (B) 048 d
(C) 0.50 d (D) 053 d

If d and ¢ are the effective depth and thickness of a beam respectively and

€ is the yield stress ratio, the webs shall be checked for shear buckling

when ...............
(A) dit > 67 ¢ (B) d/t < 67 ¢
(C) blt < 67 ¢ VY 07 B s @Ve

Fillet welds are designed to resist :
(A) Tensile stress | (B) Shear stress

(C) Compressive stress (D) Torsional stress

AE(C) HPPTCL 2016—A 10



29.

30.

31.

32.

For temperature less than ............... , no reduction in the yield stress need to

be considered for both mild steels and high strength low alloy steels.

(A) 500°C (B) 1000°C

(C) 50°C (D) 215°C

At the location of the plastic hinge of a deformed structure, ........... beco-mes
infinite.

(A) curvature (B) radius

(C) moment (D) flexural stress

The lacing shall be proportioned to resist a total transverse shear at any point

in the member equal to at least ........... of the axial force in the member.
(A) 1.5 percent . (B) 2.5 percent
(C) 3.5 percent (D) 4 percent

The minimum yield stress of a steel to be used in the steel structure is 420

MPa. The permissible stress in axial tension for this steel will be :

(A) 150 MPa (B) 210 MPa

(C) 252 MPa (D) 420 MPa

AE(C) HPPTCL 2016—A 11 P.T.O.



33.

34.

- 35.

36.

For a rectangular section with width ‘@’ and depth ‘2¢’, the ratio of plastic

section modulus to elastic modulus will be :

(A) 1.0 (B) 1.5

(C) 2.0 (D) 2.34

Two 16 mm thick main plates are joined by rivets using the double cover

butt joint with 10 mm thick cover plates as shown in figure. Bearing failure

will occur first in :

EX I X N Main plate

ra i
Ansacacava

Cover plate

(A) main plate (B) both plates simultaneously

(C) cover plates (D) can not be estimated

The load factor to be used for plastic design of steel structures for dead load
and imposed load is :

(A) 25 (B) 2.2

(C) 1.7 (D) 15

If Bernoulli’s equation is applied to the pipe flow shown in the figure

by neglecting head losses, which of the following statement is most

correct ?

Direction of Flow
(A) Pressure head increases from 1 to 2
(B) Pressure head decreases from 1 to 2
(C) Pressure head remains unchanged from 1 to 2

(D) Bernoulli’s equation does not include pressure head

AE(C) HPPTCL 2016—A 12



37.

38.

39.

40.

According to Newton’s law of viscosity, the shear stress in a fluid is ...........
(A) inversely proportional to the depth of the fluid

(B) proportional to the depth of the fluid

(C) inversely proportional to the velocity gradient in the fluid

(D) proportional to the velocity gradient in the fluid

A curved surface is submerged in a static liquid. The horizontal cofnpon‘ent

of pressure force on it is equal to :

(A) the pressure force on a horizontal projection of the surface

(B) product of the surface area and the pressure at the center of gravity
(C) the pressure force on a vertical projection of the surface

(D) weight of the liquid contained between the curved surface and the liquid

surface
Prandtl’s mixing length in a pipe flow is :
(A) a constant
(B) zero at the pipe wall
(C) a function of the shear stress at the wall
(D) a function of the Reynolds number

In a turbulent pipe flow, inside the laminar boundary layer the velocity

distribution is :
(A) parabolic (B) linear

(C) logarithmic (D) exponential decay type

AE(C) HPPTCL 2016—A 13 P.T.O.



41.

42.

43.

44.

In a turbulent flow through a pipe the centerline velocity is 3.61 m/s and

the friction factor f = 0.02. The mean velocity of the flow in m/s is :
(A) 4.80 (B) 3.00
(C) 221 (D) 0.96

The Blasius equation for friction factor fin turbulent flow thorugh pipes relates

f to the Reynolds number Re as f = ..........
(A) 64/Re (B) 0.316/Rel4
(C) 1.328/Rel/2 (D) 0.316/Rel/d

A valve is suddenly closed in a water main in which the velocity is
1 m/sec and the velocity of pressure wave is 981 m/sec. The inertia head at

the valve will be :

(A) 1 m (B) 10 m

(C) 100 m (D) none of these

In very low Reynolds number flow, the deformation drag :
(A) consists of frictional drag only

(B) consists of pressure drag only

(C) 1is essentially zero

(D) consists of both pressure and frictional drag

AE(C) HPPTCL 2016—A 14



45.

46.

47.

Drag force is a function of :

() proejcted area of the body

(i) mass density of the fluid

(iiz) velocity of the body

The correct answer is :

(A) () and (1) (B) (i) and (iit)

(C) () and (i) .(D) (), (ii) and (i)

The gage pressure in a liquid at a depth of 3 m is read to be 28 kPa. The
gage pressure in the same liquid at a depth of 12 m will be :
(A) 7 kPa (B) 112 kPa

(C) 224 kPa (D) 448 kPa

A circular cylinder held in uniform flow from north to south as shown in
the given figure, is rotated about its own axis in clockwise direction. It will

experience a lift force in the direction of :

N

L

|
%

(A) N (B) S
(C) E D) W

AE(C) HPPTCL 2016—A 15 | BTO,



48.

49.

50.

Surge wave in a rectangular channel is an example of :
(i) steady flow

(i) unstead flow

(zzz) uniform flow

(iv) non-uniform flow

The correct answer is :

(A) (i) and (i) (B) (ii) and (iii)
(C) () and (iv) (D) (@) and (iv)

Given that, S = slope of the channel bottom, S, = slope of the energy line,

F = Froude Number, the equation of gradually varied flow is expressed

as :
dy _ S, -8, dy _ S, -8,
@ @ 1+ B) 4 1P
dy _§; +8S, dy _ S, + 5,
© & 1P D) @~ 1P

A channel, triangular in cross-section, is 4.0 m wide and 1.0 m deep. The
velocity of the water at depth of 20 cm and 80 cm on the centre line was
found to be 0.80 m/s and 0.20 m/s respectively. The discharge in the channel

in m°/s will be :
(A) 0.80 (B 20

(C) 045 (D) 2.9

AE(C) HPPTCL 2016—A 16



51. A spillway discharges flood at a rate of 9 m®/s per metre width. If the dpeth
of flow on the horizontal apron at the toe of the spillway is 46 c¢m, the tail
water depth needed to form a hydraulic jump is approximately given by which

of the following ?
(A) 254 m (B) 490 m
(C) 577 m (D) 6.23 m

52. Match List I with List II and select the correct answer using the codes given

below the lists :

List I List 1I
(@) Horton Formula (1) Evapo-transpiration
(b)  Lysimeters (2) Ratio of lake evaporation to

pan evaporation

(c) Blaney-Criddle formula (3)  Infiltration equation
(d) Pan coefficient (4)  Soil evaporation
Codes :
(a) (b) () (d)
(A) (1) (2) (3) (4)
(B) (2) (4) (1) (3)
(C) (3) (4) (1) (2)
(D) (4) (3) (1) (2)

AE(C) HPPTCL 2016—A 17 P.T.O.



53.

54.

Which of the following statemnts are true with regard to energy dissipation

below a dam ?

(I)  If the upper conjugate depth of a hydraulic jump is below the tailwater,
little energy will be dissipated.

(II) An upturned bucket will protect the dam from scbur by moving material

toward the dam.

(III) A secondary dam may increase tailwater height, thereby causing a

hydraulic jump to form at the toe of the main dam.

(IV) A slopping apron above streambed level may be used to control the

hydraulic jump so that it occurs on the apron
(A) (I, (IT) and (III) are correct
(B) (I), (II), (III) and (IV) are correct
(C) (I), (III) and (IV) are correct

(D) (II) and (III) are correct

The bottom portion of a concrete or a masonry gravity dam is usually stepped,

in order to : r, A

(A) increase the overturning fesistance of the dam

(B) increase the shear strength of the base of the dam
(C) decrease the shear stress at the base of the dam

(D) there would be no effect

AE(C) HPPTCL 2016—A 18



55. In ground water flow, the velocity with which a tracer would move is :
(A) the same as the seepage velocity given by Darcy’s law

&
(B) (;] times the seepage velocity where n is the porosity of the

formation

1
(C) (;) times the seepage velocity where ¢ is the void ratio of the

formation

(D) K times hydraulic graident (i.e. v = K;) where K is Darcy’s

coefficient

56. Electrical conductivity (EC) of water and total dissolved solids (TDS) are

interrelated. The value of EC will ?
(A) decrease with increase in TDS
(B) increase with increase in TDS
(C) decrease initially and then increase with increase in TDS

(D) increase initially and then decrease with increase in TDS

AE(C)HPPTCL 2016—A 19 k4 12 8 2



57. Match List I (Process) with List II (Biological agent) and select the correct

answer using the codes given below the lists :

List 1

(a) Oxidation ditch

(1)

(b) Rotating Biological Contractor (2)

(RBC)

(¢ Waste stabilization pond

(d) Imhoff tank

Codes :

(a)
(A) (1)
(B) (3)
(©) (3)
(D) (2)

AE(C)HPPTCL 2016—A

(b)

(4)

(1)

(4)

(4)

(e) .

(2)
(2)
(1)

(3)

20

(3)

(4)

(d)

(3)

| (4)

(2)

(1)

List II

Facultative bacteria

Anaerobic bacteria

Anaerobic bacteria (suspended

culture)

Anaerobic bacteria (attached

culture)



58. The question consists of two statements; one labelled as ‘Assertion (A) and

the other as ‘Reason (R) :

Assertion (A) : Tapered flocculation is more efficient when compared to the

conventional process of flocculation.

Reason (R) : In tapered flocculation, velocity gradient at the inlet is less than

that at the outlet of the flocculation unit.

Examine above two statements carefully and select the correct answer from

the option given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
59.  Which one of the following pairs is not correctly matched ?
(A) Air valve : To release the accumulated air
(B) Sluice valve : To control flow of water through pipelines
(C) Checked valve : To check water flow in all directions

(D) Scour valve : The remove silt in a pipeline
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60.

61.

62.

The following three stages are known to occur in the biological action

involved in the process of sludge digestion :

(1) Acid fermentation

(2) Alkaline fermentation

(3) Acid regression.

The correct sequnce of three stages is :

(A) 1,2, 3 B) 1, 3, 2

(C) 2,3,1 D) 3,1, 2
High COD to BOD ratio of an organic pollutant represents :
(A) high biodegradability of the pollutant

(B) low biodegradabiltiy of the pollutant

(C) presence of free oxygen for aerobic decomposition
(D) presence of toxic material in the pollutan.t

Which of the following statements related to C/N (Carbon/Nitrogen) ratio is

not correct ?
(A) Higher initial C/N ratio 1éac'r_°s to cell destruction to obtain nutrition

(B) Lower initial C/N ratio leads to loss of nitrogen and slows down the rate

of decomposition

(C) Higher initial C/N ratio leads to lower conservation of nitrogen in the

finished compost

(D) An initial C/N ratio of 30 to 50 is optimal for composting
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63. Match List I with List II and select the correct answer using the codes given
below the lists :

List I List II

(@) CcO ' (1)  Greenhouse effect

b)) CO, (2)  Acid rains

(e) SO, (3) Acute toxicity

(d) NO, (4)  Ozone liberation at ground level

Codes : -
(a) b) () (d)

(A) (3) (2) (1) (4)

(B) (2) (3) (4) (1)

(C) (3) (1) (2) (4)

(D) (4) (1) (2) (3)

64. The maximum dry density in a fine grained soil can be achieved with specified
compaction at :

(A) minimum water content
(B) field water content

(C) maximum water contént
(D) optimum water content

65. In the unconfined compression test, the corrected area of cross section (A)
at any strain can be calculated by (A, = original area of cross section,
¢ = strain) :

. A
L A, =0
(A) A, =4 (B) Se=71.¢
— AO
© A.=7__ D) A, = Ayl — &
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66.

67.

68.

69.

If a soil with uniformity coefficient less than 3, coefficient of curvature greater
then 3 and having more than half of coarse fraction (+75 micron i.e. retained
on 75 mcron IS sieve) is smaller than 4.75 mm IS sieve, then the classification

of the soil is :
(A) well graded gravel (B) poorly graded gravel
(C) organic silt (D) poorly graded sand

Which one of the following represents relative density of saturated sand deposit
having moisture content of 25%, if maximum and minimum void ratio of sand

are 0.95 and 0.45 respectively and specific gravity of sand particles
is 2.6 ?

(A) 40% (B) 50%
(C) 60% (D)  70%

A loose, natural sand deposit has a saturated unit weight of 19.3 kN/m? and
an angle of internal friction of 29°. The water table is the ground surface.
The total at-rest lateral earth pressure at a depth of 10 m is most

nearly :
(A) 80 kPa (B) 147 kPa
(C) 217 kPa ‘ (D) 247 kPa

A triaxial test was performed for a saturated cohesive soil which results an
angle of internal friction (¢) eqhial'to zero. The test conducted in this process

is known as :

(A) Unconsolidated Undrained Test
(B) Unconfined Compression Test
(C) Consolidated Undrained Test

(D) Consolidated Drained Test
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70. Match List I (Test) with List II (Property) and select the correct answer using
the codes given below the lists :

List I (Test) List II (Property)

(@) Constant head permeability test (1) Specific gravity
(b)  Consolidation test (2) Grain size anlaysis
(c) Pycnometer test (3) Clay soil
(d) Hydrometer test (4) Sand
Codes :

(@) (b) (c) (d)
(A) (2) (4) (1) (3)
(B) (4) (3) (1) (2)
(C) (4) (2) (3) (1)
(D) (2) (4) (3) (1)

3

71. A soil sample, 20 em® in cross-sectional area and 10 cm long is tested for

permeability in a variable head permeameter. The stand pipe has a cross-
sectional area of 1 em? and the head drops from 30 em to 10 em in 6 minute

and 20 seconds. The soil permeabiltiy will be :
(A) 1.44 x 1072 cm/sec (B) 2.44 x 1073 cm/sec
(C) 2.44 x 1074 cn/sec (D) 1.44 x 107* cm/sec

72. The optimistic, the most likely duration and the pessimistic time estimates

in a network are 4, 5 and 8 months respectively. The expected time is :
(A) 4.00 months (B) 5.33 months

(C) 5.67 months (D) 7.00 months
AE(C) HPPTCL 2016—A 25 P.T.O.



73. The Whole Circle Bearing of line AB is 50° and of line BC is 120°. The defection
angle at B from AB to BC is :

(A) 70% (B) 50°
(C) 110° (D) 120°

74. The maximum superelevation to be provided on a road curve is 1 in 15. If
the rate of change of superelevation is specified as 1 in 120 and the road

width is 10 m, then the minimum length of the transition curve on each end

will be :
(A) 1.25 m (B) 80 m
(C) 100 m (D) 120 m

75. Floating gradient is :

(A) the possible gradient which is convenient for all types of vehicles using
the road

(B) provided on plain roads mainly for drainage purposes

(C) the gradient on which a motor vehicle moves with a constant speed and
continues to move with the same speed without any application of tractive
power or brakes

(D) the steepest gradient which should not be exceeded on any point of the
road e

76. Burmister considered the pavement structure as a homogeneous half space.
Here the half-space means :

(A) infinite area with infinite depth
(B) finite area with infinite depth
(C) finite area with finite depth

(D) infinite area with finite depth
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77. Consider the following statements :
Collison diagram is used to
(1) study accident pattern
(2) eliminate accidents
(3) determine remedial measures
(4) make statistical anlaysis of accidents
Which of then statements are correct ?
(A) (1) and (2) (B) (2) and (4)
(C) (1) and (3) (D) (3) and (4)

78. The question consists of two statements; one labelled as ‘Assertion (A) and

the other as ‘Reason (R).

Assertion (A) : For mixed traffic conditions, the superelevation should fully

counteract the centrifugal force for the full design speed.

Reason (R) : Superelevation needed to maintain the design speed in fully may
exceed the limiting value 0.07. Further, as it not possible to increase the radius,

the speed has to be restricted.

Examine above two statements carefully and select the correct answer from

the options given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not a correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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79.

80.

81.

82.

83.

84.

Which of the following test is used to determine the consistency and flow

resistance of bitumen ?
(A) Ductitility test (B) Viscosity test
(C) Softening point test (D) Penetration test

What would be the extra widening required for a two-lane national highway
at a horizontal curve of 300 m radius if a wheel base of 8 m and a design

speed of 100 kmph are to be considered ?

(A) 0.42 m (B) 0.62 m

(C) 082 m (D) 092 m
Which of the following is on the bank of river Beas ?
(A) Pandoh (B) Dehar

(C) Nerchowk (D) Karsog
Which pass joins Kullu and Spiti ?

(A) Tamsar (B) Jalsu

(C) Pir Parvati (D) Darati

Son of Raja of which princely state founded the Handur Princely state ?
(A) Kehlur - % (B) Kutlehar

(C) Keonthal (D) Kangra

In which princely state and Muhammed Junaido, who rebelled against Begum

Razia Sultan, take shelter ?
(A) Baghat (B) Handur

(C) Sirmaur (D) Kehlur
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85.  Which scion of Raja Sansar Chand of Kangra tried to organise a revolt against

tl?:a British around 1857-58 A.D. ?
(A) Fateh Chand (B) Partap Chand
(C) Jai Chand (D) Ranbir Chand
86. Which District of H.P. is Suketi Fossil Park ?
(A) Mandi (B) Bilaspur
(C) Sirmaur (D) Chamba
87. In which Tehsil of Shimlé District is Andhra hydel project ?
(A) Theog (B) Rohru
(C) Chopal (D) Rampur
88. In which month is Pulech festival celerbated ?
(A) Jeshtha/Asad ' (B) Asad/Sawan
(C) Sawan/Bhadon .+ (D) Bhadon/Asanj

89. Which country had gifted the bell which was used as Dinner gong by the

Brtish at the Viceregal Lodge Shimla (now 11AS) ?
(A) Canada (B) Burma

(C) Nepal (D) Russia
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90.

91.

92.

93.

95.

To which region of the Himachal Pradesh does film star Preity Zinta
belonig ?

(A) Chamba (B) Shimla

(C) Solan (D) Kinnaur

Who is the author of The Turbulent Years : 1980-96 ?

(A) Hamid Ansari (B) Pranab Mukherjee
(C) Anael Seal (D) Arun Jaitley

Which of the following is not included in the list of 50 wealthiest people in
the World drawn by Wealth X and Business Insider in January 2016 ?

(A) Azim Premji (B) Mukesh Ambani
(C) Dilip Shanghvi (D) Anil Ambani
Archana Ramasundaram is the Director General of ..............
(A) BSF (B) CRPF

(C) SSB (D) ITBP

Who was appointed Lokaylikta of U.P. by the Supreme Court of India whose
appointment was later on recalled ?

Y
: (R 4

(A) Justice Sanjay Mishra * -~ (B) Justice Virendra Singh
(C) Justice Rajender Sachar (D) Justice Ashok Kumar Roopanwal

How many seats did the Congress Party win in Seemandhra region during
the 2014 Lok Sabha Elections ?

(A) Eight (B) Six

(C) Two (D) Zero
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96.

7.

98.

99.

100.

With which of following is Indra Nooyi associated ?
(A) Coca Cola (B) Pepsi
(C) Nokia (D) Master Card

Identify the longest rail route in the world that became operative in

2014 ?
(A) Russia to Belgium (B) China to Poland
(C) Russia to France (D) China to Spain

From which city of Indonesia did the ill-fated Air-Asia flight take off which

‘crashed killing 162 people on board in December, 2014 ?

(A) Bandung (B) Surabaya

(C) Jakarta (D) Huambo

What does French slogan ‘Je Suis Charlie’ mean ?

(A) Long Live Charlie (B) Charlie is great
S

(C) I am Charlie (D) I am with Charlie

Which black American was suffocated to death by a white policeman in New

York in July 2014 ?
(A) John Crawford (B) Michal Brown

(C) Eric Gardner (D) Mike Brown
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